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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the Candidates’
Item Response Analysis (CIRA) for the 2021 Advanced Certificate of Secondary
Education Examination (ACSEE) in the Economics subject. This analysis provides
feedback to all education stakeholders.

The Advanced Certificate of Secondary Education Examination (ACSEE) marks
the end of a two year Advanced Secondary Education. It is a summative evaluation
which shows, among other things, the effectiveness of education system in general
and the education delivery system in particular. Essentially, the candidates’
responses to the examination questions is a strong indicator of what the education
system was able or unable to offer to the candidates in their two years of Advanced
Secondary Education.

The analysis presented in this report seeks to contribute towards the understanding
of possible reasons for the candidates’ performance on each question. The general
performance of the candidates in Economics was good, as 99.27 percent passed the
examination. Moreover, out of 16 tested topics, 11 had good performance while 5
topics were had average performance. The report highlights some of the factors that
attributed to the candidates' high score. Such factors include the ability to adhere to
the demands of the questions, express themselves in the English Language and the
knowledge of the concepts related to the subject.

Furthermore, the analysis highlights the challenges faced by a few candidates who
scored low marks in some questions. Such factors include failure to adhere to the
demands of the questions, good command of English language and lack of
knowledge about the concepts related to the subject. The feedback provided will
enable the educational administrators, school managers, teachers and students to
identify proper measures to be taken to improve candidates’ performance in the
future examinations administered by the Council.

Finally, the Council would like to thank the Examinations Officers, Examiners and
those who participated in processing, analysing and preparing this report.

Dr Charles E. Msonde
EXECUTIVE SECRETARY



1.0 INTRODUCTION

This report presents the performance of the candidates who sat for the
Advanced Certificate of Secondary Education Examination in May 2021 in
the Economics subject, showing how the candidates performed in each
question.

The examination tested the candidates’ competences as per the requirements
of the 2009 syllabus. The examination comprised two papers: 151/1
Economics 1 (Economic Theory) and 151/2 Economics 2 (Economic
Development). Each paper consisted of 8 questions which were distributed
into Sections A, B and C. In each paper, the candidates were required to
answer 6 questions in section A and 2 questions from each sections, namely B
and C. In section A each question carried 10 marks, while in sections B and C,
each question carried 20 marks.

A total of 10,515 candidates sat for the ACSEE Economics examination.
Among them, 10,402 (99.27%) candidates passed this examination while
77(0.73%) candidates failed. Generally, the candidates’ performance in 2021
has decreased by 0.01% compared to the 2020 performance where 11,188
candidates sat for the examination in which 10,402 (99.27 %) candidates
passed and 77 (0.73 %) candidates failed.

This report analyses performance on each question by giving an overview of
what the candidates were required to do, how they responded to the questions,
and the reasons which led to their good or poor performance. The candidates’
performance on each question was considered weak if their scores ranged
from 0 to 34 percent, average if the scores ranged from 35 to 59 percent and
good if the scores ranged from 60 to 100 percent.

Special colours are used to categorize the performance, as green stands for
good, yellow for average and red for weak as seen in graphs and a table in the
Appendix. Some extracts showing the candidates responses are included to
provide a general overview of how the candidates responded as per the
demands of each question.



20 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

2.1

2.11

PAPER 1: 151/1 ECONOMIC THEORY

Question 1: Production
This was a short answer question where the candidates were required
to briefly describe the five characteristics of capital.

The question was attempted by all 10,515 (100%) candidates; out of
which 2,786 (26.5%) scored from 0 to 3 marks, 2,806 (26.7%) scored
from 3.5 to 5.5 marks, and 4,923 (46.8%) scored from 6 to 10 out of
the 10 allotted marks. Generally, the performance of candidates in this
question was good since 73.5 percent scored from 6 to 10 marks.
Figure 1 shows the distribution of the candidates’ scores.
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Figure 1: Candidates’ Performance in Question 1

A total of 4,923 candidates (46.8%) who performed well in this
question precisely described the characteristics of capital such as,
capital is a passive factor of production since it cannot produce without
the help of the active services of labour, all capital goods are
destructible and are not permanent, the demand for capital is a derived
demand because capital is not demanded for its own sake. The
candidates provided clear explanations with vivid examples in most of
the points. Other candidates explained that the composition of supply
of capital is not an automatic action, but produced with the joint efforts

of labour and land as the case in food and cash crops production.
2



However, the candidates’ scores in this category varied because some
of them did not exhaust all the required points while others were able
to provide the necessary details with examples in some points only. A
sample of a good response is shown in Extract 1.1
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Extract 1.1 is a sample of the good responses in Question 1.

In extract 1.1 the candidate was able to describe the characteristics of
capital.

However, 2,806 candidates (26.7%) with moderate scores
insufficiently explained the characteristics of capital. Most of these
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candidates had a better understanding of the question as they correctly
explained some of the characteristics of capital such as the fact that
total supply of capital is variable as it can be increased or decreased
with time. Some of the candidates explained less than the five required
points while others partially explained all the five required points but
without satisfactory explanations.

A total of 2,786 candidates (26.5%) who attempted this question
failed to understand the requirements of the question. Most of them
misinterpreted the concepts of capital and money. Hence, they failed
to describe the characteristics of capital, as they described the
characteristics of money such as acceptability, recognisability and
malleability. However, money can be used to buy capital although
money is not a factor of production since it cannot be used as an
ingredient in the production process. These concepts are similar in
the sense that they are all man-made but they differ because money
Is not a factor of production. For example, some of the candidates
incorrectly defined capital as a certain kind of fixed assets instead of
describing the characteristics of capital. Moreover, other candidates
only mentioned some points on the characteristics of capital but were
unable to explain them. This suggests that the candidates had
insufficient knowledge of the concepts used in explaining the
characteristics of capital as a factor of production as they explained
the different meaning of the term capital. The responses from the
candidates who performed poorly had several weaknesses leading
them to score different marks within the group. Extract 1.2 is a
sample of the poor responses.
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Extract 1.2 is a sample of poor responses in Question 1.

In extract 1.1, the candidate failed to describe the characteristics of
capital instead he/she gave different explanations on the meaning of
capital.

2.1.2 Question 2: Employment and Unemployment
This was a short answer question in which the candidates were
required to explain the negative impacts of unemployment in the
economy.

The question was attempted by all 10,513 (100%) candidates; among
them, 100 (1%) scored from O to 3 marks, 612 (5.8%) scored from 3.5
to 5.5 marks, and 9,801 (93.2%) scored from 6 to 10 out of the 10
allotted marks. Generally, the performance of candidates on this
question was good since 99.0 percent scored 5.5 marks and above.
Figure 2 shows the distribution of the candidates’ scores.
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Figure 2: Candidates’ Performance in Question 2

A total of 9,801 candidates (93.2%) who performed this question
well had a clear understanding of the demands of the question as
they explained the required negative impacts of unemployment in the
economy. Most of the candidates highlighted the negative impacts of
unemployment such as: overcrowding in urban areas resulting from
urban unemployment and areas with the higher rates of rural urban
migration, decline in saving capacity of income earners which tends
to discourage savings and investment, Concerning the emergency of
social evils in the urban areas the unemployed people engage in both
legal and illegal income generating activities such as crimes,
prostitution and robbery which in turn lead into more social
problems and distress in the community. Furthermore, the candidates
were able to support their arguments with different groups of the
unemployed such as university graduates. The variation of scores
among the candidates in this category was attributed to the individual
candidates’ ability to offer clear explanations, relevant examples, and
the number of points analysed. This is shown in Extract 2.1.
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Extract 2.1 is a sample of good responses in Question 2.

A total of 612 candidates (5.8%) who scored averagely clearly
explained the negative impacts of unemployment in the economy.
Some candidates explained all the five required points, but they
provided partial explanations. Nevertheless, some of these candidates
misinterpreted the question and provided both negative and positive
impacts of unemployment, while others provided the required points
although their points were not backed up with the relevant examples.
The weakness of each candidate examined made them to score
different marks within this group.

Additionally, 100 candidates (1%) performed this question poorly.
They failed to adhere to the demands of the question. They had
insufficient knowledge and skills in employment and unemployment
theories. For example, some of them misconceived the question and
provided all the positive impacts of unemployment within urban
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centres. These include increase in efficiency of labour among the
workers who compete to increase their job security, search for
greener pastures, white-collar jobs, or high income-generating
opportunities and resort to labour mobility instead of the challenges
of unemployment. In contrary, others provided the measures to be
adopted to overcome the problems of unemployment such as: the
development of small scale industries, irrigation schemes as well as
vocationalisation of education. However, many candidates in this
category tried to explain at least two challenges. Extract 2.2 shows a
sample of the poor responses.
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Extract 2.2 is a sample of poor responses in Question 2.



Extract 2.2 shows answers the candidate who has failed to explain the
negative impacts of unemployment, instead he/she explained the fall
of the economy.

2.1.3 Question 3: Subject Matter of Economics
This was a structured question, with parts (a), (b), (c), and (d).
In part (a), the candidates were required to calculate the sacrifice of
the consumer goods for capital goods and fill in the table.
In part (b) the candidates were required to construct the production
possibility frontier.
In part (c), the candidates were required to explain what the
production possibility frontier can illustrate to an economy.
In part (d), the candidates were required to distinguish consumer
goods from capital goods.

The question was attempted by 7,974 (100%) of the candidates;
among them 2,222 (27.9%) scored from 0 to 6.5 marks, 2,898
(36.3%) scored from 7 to 11.5 marks and 2,854 (35.8%) scored from
12 to 20 out of the 20 allotted marks. Generally, the performance of
candidates in this question was good since 72.1 percent scored 7
marks and above. Figure 3 shows the distribution of the candidates’
scores.

35.8%

Scores
m00-6.5

07.0-11.5
m12.0-20.0

Figure 3: Candidates’ Performance in Question 3



The candidates who performed well, 2,854 (35.8%), in this question
were familiar with the mathematical skills applied in economics. They
correctly calculated the sacrifice of the consumer goods for capital
goods and filled the values in the table. For example, in part (a) some
of the candidates calculated the points in the production possibility
frontier and use the values in part (b) to construct the production
possibility frontier. However, the disparities observed in their scores
were caused by a number of correct points, accuracy of their
calculations, interpretation of the mathematical derivations and
labelling the production possibility frontier. In part (c), the candidates
who had good knowledge in computation analysed the practical
applications of the production possibility frontier curve such as
decision making by the government and firms in using the
opportunity cost and choice in production. In part (d), most of the
candidates managed to distinguish consumer goods from capital
goods. Besides, in this question, the scores varied due to different
abilities of the candidates to argue and the number of correct
arguments presented. Extract 3.1 shows a sample of good responses.
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Extract 3.1 is a sample of good responses in Question 3
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However, the 2,898 candidates (36.3%) who scored averagely used a
wrong formula to calculate the sacrifice of consumer goods for capital
goods in part (a) and this information to construct the production
possibility frontier accurately in part (b). Some of the candidates
properly constructed the production possibility frontier but were
unable to label it accurately. In part (c), some of the candidates
correctly provided the relevant explanations and practical applications
of the production possibility frontier curve while others failed due to
inadequate mathematical skills and application of a wrong formula in
calculations. Although the candidates provided sufficient points to the
demands of the question, they scored less marks in this question
because their points were unsupported.

On the other hand, 2,222 candidates (27.9%) who performed poorly
on this question failed to apply mathematical skills and the required
formulae to determine the required variables. In part (a), some of the
candidates applied the wrong formula in computation of the sacrifice
of consumer goods for capital goods. Consequently, they provided
wrong answers which could not be used to construct the production
possibility frontier. In addition, others were good in calculation but
they failed to use the answers to construct the production possibility
frontier. In part (c), most of the candidates in this category failed to
give the practical application of the production possibility frontier in
the economy due poor arithmetic skills. This indicates that not only
did they have insufficient knowledge about the production possibility
frontier but also failed to integrate the theories and practical
application into the economy. Extract 3.2 shows a sample of poor
responses.
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Extract 3.2 is a sample of poor responses in Question 3.

The extract shows the candidate who failed to explain the practical
application of the production possibility frontier, instead explained
the assumptions of the production possibility frontier.

2.1.4 Question 4: Market
This question had parts (a) and (b). In part (a), the candidates were

required to derive the profit maximisation level of output.

In part (b), the candidates were required to illustrate the equilibrium of
the firm under perfect competition in the short run.
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The question was attempted by 3,311 (100%) of the candidates.
Among them, 1813 (49%) scored from 0 to 6.5 marks, 1395 (42.2%)
scored from 7 to 11.5 marks, and 293 (8.8%) scored from 12 to 20 out
of the 20 allotted marks. Generally, the performance of candidates in
this question was average, since 51.0 percent scored 7 marks and
above. Figure 4 shows the distribution of the candidates’ scores.

._.
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Percentage of Candidates

0.0-6.5
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12.0-20.0

Scores

Figure 4: Candidates’ Performance in Question 4

A total of 293 candidates (8.8%) who performed well in this question
had a sufficient knowledge of the equilibrium of the firm in different
market structures. They had suitable arithmetic skills and mathematical
derivations to use formulae and interpret the observations in explaining
different levels of output where the firm can maximise profit and
equilibrium level of output. They managed to use statistics and
diagrams to illustrate the equilibrium of the firm under perfect
competition market structure. In part (a), for example, some of the
candidates used the profit function to derive the profit maximisation
level of output. Furthermore, in part (b), the candidates accurately
identified and illustrated the equilibrium of the firm under perfect
competition in the four market situations using well labelled diagrams.
They were able to indicate the exact points where marginal cost curves
intersect the marginal revenue curve where a firm achieved to produce
at the profit maximisation level of output. Nevertheless, the differences
observed from the candidates’ scores depend on the ability of the
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candidates to illustrate the curves in the diagrams provided and the
mathematical skills to identify profit maximisation level of output.
Extract 4.1 shows a sample of good responses
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Extract 4.1 is a sample of good responses in Question 4.

On the other hand, 1395 (42.2%) candidates with average marks
showed a better understanding of the requirements of the question.

Some of the candidates clearly performed mathematical

differentiation to derive the formulae to be used to achieve profit
maximisation level of output in part (a) by illustrating how the formulae
is derived, but failed to identify all the four market situations in which a
firm may be in equilibrium under perfect competition in the short run in
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part (b). In contrast, other candidates were unable to derive the formula
to identify profit maximisation level of output, but correctly identified
and illustrated at least for market situations in which a firm may be in
equilibrium under perfect competition in the short run. In this category,
the candidates’ marks differed due to their ability, clarity, and accuracy
in illustrating and identifying the points of profit maximisation level of
output and equilibrium of the firm in the different market situations.
This suggests that the candidates had poor knowledge about the market
structures.

The candidates 1,813 (49.0%) who scored from 0 to 6.5 failed to
recognize the requirements of the question. Most of the candidates
misunderstood the question and deviated from the demand of the
question due to their poor knowledge and skills in market theories and
computations. In part (a), for instance, some of the candidates failed
completely to derive profit maximisation level of output from the profit
function and omitted this part while others instead explained the role of
profit to the firm. In part (b), the candidates misconceived the question
as they failed to illustrate equilibrium of the firm under perfect
competition, instead they sketched positive linear graphs and downward
sloping curves with incorrect labelling to illustrate equilibrium of the
firm under both perfect and imperfect market structure in one diagram.
Some of the candidates misinterpreted the question and explained the
necessary conditions for the equilibrium of the firm to occur in different
market structures. In contrast, others illustrated with a well labelled
diagram and identified equilibrium of the firm under perfect
competition in the long run. This indicates that the candidates were not
familiar with the concept of profit maximization level of output and
equilibrium of the firm in different market structures. Nevertheless,
some candidates in this group failed to score some marks as they
illustrated at least one or two correct market situations, though they
failed to explain such points and label coherently. Extract 4.2 shows a
sample of poor responses from a candidate who misinterpreted the
question.
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Extract 4.2 is a sample of poor responses in Question 4.

The extract shows the candidate who provided an incorrect illustration of
the equilibrium of the firm under perfect competition in the short run.

19



2.1.5 Question 5: Theories of Demand and Supply
This question had parts (a) and (b). In part (a), the candidates were
required to calculate cross elasticity of demand from the given data in (i)
and interpret the results (i) in (ii).
In part (b), the candidates were required to analyse the factors which
influence price elasticity of supply.

The question was attempted by 9,682 (100%) of the candidates. Among
them, 4,688 (48.4%) scored from 0 to 6.5 marks, 3,455 (35.7%) scored
from 7 to 11.5 marks and 1,539 (15.9%) scored from 12 to 20 out of the
20 allotted marks. Generally, the performance of candidates on this
question was average since 51.6 percent scored 7 marks and above.
Figure 5 shows the distribution of the candidates’ scores.

60
48.4

(on
o
I

N
o
1

35.7

N
o
1

15.9

Percentage of Candidates
w
o

H
o
1

0.0-65 7.0-115 12.0 - 20.0

Scores

Figure 5: Candidates’ Performance in Question 5

The analysis shows that the 1,539 candidates (15.9%) who performed
well in this question understood the demands of the question. They
applied arithmetic skills and a correct formula to calculate cross elasticity
of demand which enabled them to get a positive value (+1). The
candidates were well acquainted with the concept of cross elasticity of
demand and interpretations of the economic information from the
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calculations. Most of the candidates in this category provided the accurate
interpretation of the positive value that commodities X and Y are
substitutes because for such commodities when the price of X increases
consumers reduce the consumption of commodity X since the two
commodities X and Y compete in the market because they offer the same
utility. The candidates explained that, the commodities which exhibit this
feature are like coffee and tea or fish and meat, thus the candidates
applied relevant mathematical formulae to calculate and interpret
accurately the results, as they demonstrated sufficient knowledge of the
practical application of the theories of demand and supply. In part (b), the
candidates applied their relevant knowledge on the theories of elasticity
of supply to analyse and provide the factors which influence elasticity of
supply supporting their explanation with relevant examples. For example,
some candidates explained that when factor mobility and substitutability
is high, supply is elastic but a low mobility and substitutability leads into
inelastic supply, production of goods using a simple technology leads into
elastic supply while those who demand advanced technology is inelastic.
These candidates failed to score full marks because some of them
explained all the five required factors but provided unsatisfactory
descriptions to some of them. Most of the candidates’ responses showed
their ability and knowledge of elasticity. The slight weaknesses observed
from the candidates’ responses varied from one candidate to another, thus
affecting their range of scores. Extract 5.1 presents a sample of the good
responses.
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Extract 5.1 is a sample of good responses in Questlon 5
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3,455 candidates (35.7%) who scored average marks
correctly interpreted the question and provided some correct
responses by calculating accurately cross elasticity of demand and
providing correct explanations of some factors which influence
elasticity of supply. In part (a), some of the candidates were good in
calculation and managed to get the value of cross elasticity of demand
but were unable to make the required interpretation as a good number
of them misconceived the question as they gave the answers in terms



of price elasticity of demand instead of cross elasticity of demand.
Others made the correct interpretation that there is a positive change
but they provided examples of the commodities which are
complementary. Complementary goods are those consumed jointly as
a result, unlike the substitutes when the price of one commodity rises
consumers reduce the demand of that commodity and automatically
quantity demanded of the other commodity falls. In part (b), majority
of the candidates provided insufficient, and less supported points per
the requirements of the question since almost all of them managed to
two to three factors which influence elasticity of supply.

A total of 4,688 candidates (48.4%) who performed this question
poorly failed to use the required formula properly to get the correct
value of cross elasticity of supply and make interpretation as well as
analysis of the factors influencing elasticity of supply. In part (a),
some of the candidates failed to apply mathematical skills and the
required formulae to calculate cross elasticity of supply while others
skipped this part of the question. In part (b), most of the candidates
misconceived the question, instead they analysed the factors which
influence supply such as the price of the commodity, the level of
technology, the costs of production, number of the firms in the market
and durability of the commodity. They failed to address the demands
of the question. For example, some of the candidates confused price
elasticity of demand and cross elasticity of demand as they
interpreted the results of the calculation as elastic or inelastic.
However, price elasticity of demand deals only with one commodity
while cross elasticity of demand deals with the relationship of the two
commodities.

However, some of the candidates managed to explain at least one or
two factors which influence elasticity of supply, though they did not
give clear explanation. Others managed to calculate cross elasticity of
demand but they failed to interpret the findings as per cross elasticity
of supply in the economy. Extract 5.2 shows a sample of poor
responses.
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Extract 5.2 is a sample of poor responses in Question 5.
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The extract shows the candidate failed to calculate and interpret cross
elasticity of demand in part (a). He/she also failed to analyse the
factors which influence elasticity of supply in part (b).

2.1.6 Question 6: Theories of Money
In this question, the candidates were required to examine six factors
that lead to demand pull inflation.

The question was attempted by 6,767 (100%) of the candidates, out of
which 841 (12.4%) scored from 0 to 6.5 marks, 3,278 (48.5%) scored
from 7 to 11.5 marks and 2,648 (39.1%) scored from 12 to 20 out of
the 20 allotted marks. Generally, the performance of candidates in this
question was satisfactory since 87.6 percent scored 7 marks and above.
Figure 6 shows the distribution of the candidates’ scores.
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Figure 6: Candidates’ Performance in Question 6

A total of 2,648 candidates (39.1%) who performed well in this
guestion were able to examine the factors that lead to demand pull
inflation. They explained demand pull as the persistent increase in the
general price level including the total demand for goods and services
in the economy. Next, the candidates explained that during inflation,
local currency losses its power since there is too much money chasing
a few goods in the economy. Some of the candidates provided the
factors such as: increase in money supply which increases aggregate
demand for goods and services in the economy, increase in
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government expenditure which may lead into increase in aggregate
demand for goods and services in the economy hence the general price
level increases, a rapid increase in the population which exerts
pressure on the demand for goods and services which in turn causes
upward movement of the general price level. Other candidates
provided the factors causing inflation supported by relevant examples
such as the case when the government increases wages or collects
more revenue from the people through taxation. Similarly, when the
government increases armament during the war or spends to improve
welfare activities, all such measures lead into demand pull inflation.
These candidates explained the causes of demand pull inflation but
they did not explain well some points from their responses which
determined the scores by each candidate. Extract 6.1 is a sample of the
good responses.

G' Damm\d pu [l ;?\J!’focﬁn 2+ i tho )‘;QIL cl,/Q
inplatien  which results ot qiejric}o«jé cg demond o
’h’)u qroq"?zr #u’?‘ oqar\a)aa-lb 53 -"t.;pfp/u Tha b o/uq Iy

tneroascd woge rale and  the | loyel ca incoma
eohioh l’(:oc/u 4o f'nkl‘aﬁo'f)
i 7 \Pa
Be i‘ \ L4
—_—
| L
|
2 ! / |
1 02
S O ]
® ® Quantily

7 - N
—ﬂﬁe Ql:ewz Jn‘nuram u‘lm:u)u DQrﬁannl {:u.“ qnb-yq [1:1a)
=

an @Qmancﬁ QXCOQLJ-I .:.,.._{;P' g . —I-F\Q so"t)w 1'3 ol e +9\12

korj'cn rer Dcmancﬂ F"—'H |'n§‘c|+l;)n b
v v

kgl‘ror'qua, Of comrnoo'r'ﬁe‘:z) M L\H-qn Hhore
. v . } .
i ahedhae @ commodidics there wall ke the rlse i
ﬂn‘a?, ‘H\\i i: Dbcuu_sq +F|Q conrumaor cbamnnJ muc,ps luu.’
'“"o commodities are  less , this el pore 4he ‘prbalumf
d nsa +he PN laval  wshich loady  +o ;nﬁlnd'r‘or) oo
1 . K
Deomand P‘*" fngnﬂ‘nnn by Ahe  tres <k mhor"'aj{ Y
e commodities.
I"upn/)o ;n r'ﬂwr'ntl rQlfQ,Ll - 'ﬂi(ﬂ [Qva/l %

ineorme gk o conramer when  increases +h »  cavie

7 : . . :
domand pedl inglation Lince the corsumor il hava
/ £

~=

encugh money fo  olormncnd  rmore __and _morg whieh

will  cqure  the Pmcfumr o rio p  the pric

l‘gval &k +he mmmﬁ;"fio/) 1n'ee +he cenSumor han

high  lovel or inereases)  income wheb  watl  Jeao! i
fo_inglate'n .

26



6‘ .LW(WJQ i Naq(w % e Mow N l«/lﬂm

labourm ore_ borg incrowd' with  4he inesene
ey

wago wmle there  will be e iheease  in f)urcﬁam;\j
power __which will _engera _4he !prod"ucar B s
Iu.m the  pr leve! ::A:J; bodk 4o domond ’puH
I;’t,f aﬁéﬂ

\_gOC_'(qj Qvt‘ ! Juc;) [%) é}oc& mori’tﬂz U-szé

w e dosre por Iﬂmmq tommechfor 1 e morkat

dhiy can  cause quond puy' m(»/'a/'on Lna  Herg

L wmump'fnon 4 Hhe agmmoJ/‘og bed g !)Qn:n;
ool gm! c@ h”m markef wa‘m a0 He gﬁz# 73
chor T @_ dk ?ﬁe ommedl) /?:w J'n Mok and pmfgma
in IS Pn& bive/

_Tncroane in quona’ ,kor GommuJ}‘@g 7.4,';
on b an Ao nrw@q& fo Pmc’umr when _therg » A'w(m
Jmono} lﬂﬁ commed'. ;ua ’Q/Jf)a ‘792!)0!0 do Az uﬂ ?‘50_
DﬂCfL fr Hhad Commc»j[l s 4 Aqa /)uq/)w Oémqno/
/Qvoj #, wil mauH ink ’parmiwa c& pio__ 49
.Defmno’ Pu” m Q)Lon oocu

Fa“ in fumfu a’l Ho  commeeh'frer . hdy
hore & ;a.'f omJchLon oluo b tho  incroased i
_Iw'r‘rp& fap My cn  Guie whe r'ff"qf M} Ha
Cemmt)c]}f!‘a‘a' Hhs fah' n wmfu fir a% e fe,
Horo i muse e{l domand /:! Il lng—/qf‘m in__th
Qe

- Geno,ra Damonol ou” rﬂl-/af_or) an

bo controlled b:?' recfucfon g wage mfl'a , reo/ucf“an o
the rr‘\foma btf foxalion wfﬂcro by the Dermond
ou” mﬂaﬁ’o'n may ngmuam/fv lood 40 /wmi? ,,[g/,

Con#z;qﬁca to our currency  which fmc’; regu H )

pondng  tk  Now money
1 7

Extract 6:1 is a sample of the good responses in Question 6.

On the other hand, the 3,278 candidates (48.5%) who earned average
marks managed to provide some required factors causing demand pull
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inflation but failed to arrange their points in essay form starting with
the introduction, body and conclusion as well as supporting them with
examples. Besides, other candidates provided the required number of
points for the causes of the demand pull inflation, but most of them
had poor explanations and were unable to illustrate them with well
labelled diagrams of aggregate demand and aggregate supply curves;
therefore, their responses determined the range of their scores.

Contrarily, 841 candidates (12.4%) who performed poorly failed to
provide the causes of demand pull inflation neither in essay form nor
in any regular pattern. Some of the candidates misunderstood the
question and deviated from it by providing the causes of cost push
inflation instead of the demand pull inflation. The candidates
explained that increase in the cost of production causes the rise in the
price of the factors of production such as labour. Therefore, industries
failed to cover the costs of production. Furthermore, other candidates
provided wrong causes such as the implementation of the monetary
policy by the government such as the increase in the discount rate or
rather the rate at which the central bank charges the commercial banks.
This is wrong because when the discount rate increases the
commercial banks increases the interest rate to borrowers and this in
turn leads into decrease in the quantity of money in circulation. The
responses from the majority of these candidates showed that they
understood the requirements of the question, but they failed to exhaust
the required number of points or provided unsatisfactory explanations.
Their responses demonstrated poor understanding of the causes of
demand pull inflation in the economy. Extract 6.2 is a sample of poor
responses.
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Extract 6.2 is a sample of poor responses in Question 6.
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In this extract the candidate failed to provide causes of demand pull
inflation in the economy. He/she instead, provided future expectation
of serious shortage, the influence of advertisement, the influence of
taste/fashion and boom as the general causes of inflation.

2.1.7 Question 7: Population
In this question, the candidates were required to suggest six strategies
to be adopted to move the population size of Tanzania towards the
optimal level.

The question was attempted by 5,890 (100%) candidates, out of which
2,212 (37.6%) scored from O to 6.5 marks, 3,167 (53.7%) scored from
7 to 11.5 marks, and 511 (8.7%) scored from 12 to 20 marks out of the
20 allotted marks. Generally, the performance of the candidates in this
question was good, as 62.4 percent scored 7 marks and above. Figure 7
shows the distribution of the candidates’ scores.

12.0-20.0 . 8.7

7.0-115 53.7

Scores

0 20 40 60 80

Darrantana nf Candidatac

Figure 7: Candidates' Performance in Question 7

511 candidates (8.7%) who performed well in this question correctly
explained the strategies to be adopted to move the population size of
Tanzania towards the optimal level. Population size refers to the total
number of people who live in the same geographical area. Most of these
candidates defined the optimal level as the level of population where
national income per head of population is maximised. Optimum

30



population is most desirable in view of the sustainable development of
the natural resources of the particular country. Most of the candidates in
this category organised their work in essay form, arranging their
answers starting from introduction, the main body, and conclusion. For
example, some of the candidates explain that: mechanisation of
agriculture since agriculture is the backbone of our economy while
agricultural production is very low thus to boost up productivity the use
of modern farming implements such as tractors, fertilizers, modern
seeds and advanced technology is inevitable. Diversification of our
economy so that we develop more sectors of the economy sectors such
as tourism, fishing, trade and mining are vital for the development of
the whole economy and our population to move to the optimal level.
Also, other candidates suggested that all unutilized resources should be
effectively utilized to increase productivity as well as the massive
investment in the form of education and medical services so as increase
productivity. However, clarity and a logical flow of ideas in explaining
the strategies, proper presentation of introduction and conclusion part,
and the number of correct points examined determined the extent of
their scores. Extract 7.1 is a sample of the good responses.
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Extract 7.1 is a sample of good responses in Question 7.

3,167 candidates (53.7%) who scored average marks failed to explain
all the required strategies correctly. Others explained the six strategies
with less supporting explanations thus leading them to score average
marks. This performance indicates that the candidates had poor
knowledge about the spatial distribution of the population and
sustainable development of the resources to achieve optimal level of
the size of the population. Similarly, some of the candidates did not
arrange their points in a regular manner starting with the introduction,
main body, and conclusion. However, some of the candidates provided
all the six required strategies but did not support them with the
relevant examples and their role in developing the Tanzanian
economy, thus provided partial explanations, which determined their
scores.

In contrast, 2,212 candidates (37.6%) who performed poorly failed to
explain the strategies to be adopted to move the population size of
Tanzania towards the optimal level. Some of the candidates wrongly
interpreted the question as they explained the strategies which may be
adopted to reduce the rate at which the population growth rate is
growing by using artificial and natural family planning methods, the
use of capital intensive production technique so as to reduce the
demand for labour in production. The use of bylaws to forbid and
discourage early marriage. Other candidates explained only one to
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three strategies providing partially unsupported explanations. The
responses by the majority of the candidates had several weaknesses,
but some of the candidates managed to write the introductory part as
expected while others wrote the conclusion. Extract 7.2 shows a
sample of the poor responses.
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Extract 7.2 is a sample of poor responses in Question 7.

In this extract a candidate failed to explain the strategies to be
adopted to move the population size of Tanzania towards the
33



optimal level. Instead, he/she provided the control of political
instability, negative and positive externalities and economic
activities as the strategies to achieve the optimal level.

2.1.8 Question 8: Privatization
In this question the candidates were required to analyse six challenges
that Tanzania has faced in the process of privatization.

The question was attempted by 8352 (100%) of the candidates, out of
which 4,600 (55.1%) scored from 0 to 6.5 marks, 2,688 (32.2%)
scored from 7 to 11.5 marks, and 1,064 (12.7%) scored from 12 to 20
out of the 20 allotted marks. Generally, the performance of candidates
in this question was average, since 44.9 percent scored 7 marks and
above. Figure 8 shows the distribution of the candidates’ scores.
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Figure 8: Candidates’ Performance in Question 8

A total of 1,064 candidates (12.7%) who scored high marks addressed
the demands of the question. The candidates analysed the six
challenges that Tanzania has faced in the process of privatization.
Most of the candidates in this category defined privatization as the
process of transferring ownership of a business, enterprise, agency,
public service or property from the public sector (state or government)
to the private sector or rather (a business that operates for a private
profit) or to private non-profit organisations. For example, some of the
candidates successfully analysed the valuation of assets whereby it
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was found out that valuation estimates in Tanzania were found to be
higher than the sale prices in the economy, weak financial system like
shallow and narrow financial coverage, small capital market at which
long term assets can be exchangeable may constrain the potential
investors and bureaucracy has been very detrimental to divestiture and
has served to delay it in its efficient take-off whereby the delay has
cost the government and the entire project. Furthermore, the
candidates explained that inadequate indigenous participation which
tend to marginalise the chances of the public enterprises to remain on
the hands of the indigenous has led to ownership ambiguity as well as
determining which share the proceeds of privatization are allocated to
the government is difficult. Other candidates explained about the weak
legal regulatory and judicial framework which is still very low to be
able to construct and negotiate the best contracts to be entered during
privatization as the case in some instances whereby we are forced to
break the contract and required to pay a lot of money for
compensations as the case for outsourced contract for power
generation. The candidates' scores in this group varied because some
of them did not exhaust all the required points while others provided
the necessary details with relevant examples to only some of the points
although most of them arranged their answers in essay form starting
with the introduction, the main body and conclusion. This indicates
that the candidate had a sufficient knowledge about the process of
privatisation in Tanzania and the challenges we are facing to improve
our economy. A sample of the good responses is shown in Extract 8.1.
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Extract 8.1 is a sample of good responses in Question 8.

However, 2,688 candidates (32.2%) who had average scores in this
question managed to explain the required points averagely. The
candidates understood the demands of the question but demonstrated
partial knowledge about the process of privatisation in Tanzania.
Similarly, some of the candidates explained inadequately the
challenges of privatization and did not arrange properly their
responses in the form of essay starting with the introduction, main
body, and conclusion. For example, some of the candidates provided
less than the five challenges of the privatization process required
while others exhausted all the required points but did not provide
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sufficient explanations which are supported with the vivid examples
in the Tanzanian context.

Furthermore, the 4,600 candidates (55.1%) who performed poorly did
not meet the requirements of the question and failed to analyze the
challenges that Tanzania has faced in the process of privatization
instead, they explained the challenges or problems faced by Tanzania
as a result of the operation of the privatized industries, thus
greenhouse effects, global warming and desertification. The
candidates stated that the big privatised industries such as soap
industries produce more carbon dioxide which in turn lead into
environmental degradation while the big privatised plantations make
excessive use of inorganic fertilizers which accelerate desertification.
All these factors cause problems to the Tanzanian economy. Some of
the candidates provided the disadvantages of privatisation instead of
the challenges of privatisation as they explained that most of the
privatised industries employ capital intensive production technique
which use more machines in production, thus extending the problem
of unemployment. Most of the candidates in this group did not
understand the requirements of the question and had inadequate
knowledge of analysing the required challenges of privatization.
Some candidates confused the challenges and disadvantages of the
process of privatization such as a choice to use labour or capital
intensive production technique any of these can be advantageous
therefore this is not a challenge. Apparently, they had insufficient
knowledge of the subject matter. The variation in their marks was
caused by their different abilities to give clear explanations with
relevant examples. Extract 8.2 shows a sample of poor responses.
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Extract 8.2 is a sample of poor responses in Question 8.

In this extract, the candidate failed to analyse the challenges of

privatization in the Tanzanian economy. Instead, he/she explained
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2.2

2.2.1

environmental degradation, collapse of local infant industry and loss
of government control.

PAPER 2: ECONOMIC DEVELOPMENT

Question 1: Economic Growth and Development
The candidates were required to describe forms of foreign aid.

The question was attempted by 10,515 (100%) of the candidates.
Among them, 2,932 (27.9%) scored from 0 to 3 marks, 3,318 (31.5%)
scored from 3.5 to 5.5 marks, and 4,265 (40.6%) scored from 6 to 10
out of the 10 allotted marks. Generally, the performance of the
candidates in this question was good, since 72.1 percent scored 6
marks and above. Figure 9 shows the distribution of the candidates’
scores.
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Figure 9: Candidates’ Performance in Question 1

A total of 4,265 candidates (40.6%) who performed well on this
question had sufficient knowledge of the concepts of economic growth
and development. They managed to describe the forms of foreign aid.
For example, some of the candidates described precisely that foreign
aid is a specific amount of money whether in terms of local or foreign
currency, capital or consumer goods, military assistance or technical
assistance from a donor country given to a recipient country in
different forms and agreements between parties concerned. The
candidates explained that aid may be given from a donor country to a
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recipient country in the form of technical assistance in terms of
sending skilled personnel and the related capital equipments. For
example, machines and engineers may be sent to a certain country for
the development of a specific project. Similarly, there can be a transfer
of technology from the donor to the recipient country in the form of
computers installed with a specific programme. Their scores in this
category varied due to several factors. Example the number of correct
responses provided and the degree of accuracy of the candidates’
explanations. Extract 9.1 is an example of the candidates’ good
responses.

1. forelgn it b an 10H ¢ Gbitid rana fron o
Gty o qmrnnmnf ]”.J anathr >+ faremmpi& W aid fo Tuntaman -
%m n q;chl aqu irind ot T fypc; whitk arg, b fakennd gnd
bl aits - ?wmqn aids alio Gntilte b dewlping
e elvnmies Af PM tonines The f—d\lmq are huin Fgm'u 07 tht
ﬁmqn Gl reaivd by retipin mmm Jan donr_Gunhy’

! Cmppfoj atd is the Wind 8 ald n fm g o
Capa’ral quﬁd.; und_wiels - xampls & Ciph it _1s_achivy
)#JL——'{'-.@& and Ofhwy qupﬂwm ke dedrs ‘ Pfisa(oﬂld
& aid In fum 4 aid indudy Treasury bl and seqnitie
Whidh oy prundad fwm o Gt 2 Gnothr

anuuﬂ cnd boan wid qlm 'm :kjw B hﬂéqum
asiets |k eush pSuuitiy | itk ond bonds . Fﬂ"ﬂw aidy
are rikd fom ov Canty B anotr i kelp e dune (e
£ mmw'fhn SermeruRe pny Pk nd o e redplent
(yumy' by ue ,ﬁmqnumd o pelie pontity by resitivg 4
Vitau_Gek B ponly

rpnmum 81‘ foud sewies freign aids alst May be
qw o tem b gad and genies - fwmmph Coring mrwu;
mqmpmm’rs Fnrm "US ko Wunds 1 gn e"“mpi"%f Yud “‘L
gmw whdx are pwwdm‘ by the donw Cwnfna f@d vty
indude hualbn genits and edocahm oy

40



Tecitd oid 15 an il ohidh T ruised B, da o

Guntiey 1o TﬁU‘pM* Wiy i frny ¢ touhnigues Y ottt

laLhmuJ aid 1nduﬁ°4 the tedvipuy aHmL and rmfhua: ) priucto
ke labor Infensive oid Cafhd inferi Huhripa ‘fpmdmhm
mnl‘i’ﬁnj aid U an Aid whek 1y Tavn 1o he

(e e M\Y Pm Gundries 45 Myatuin {:%Ef fzea(_o und

MT‘M wihin 0 GN.T!'M W E?Ulrh]?lu Q—fml“H'!L'g aidy
(vl vy e puipmns i Wekpny and 6 s

Extract 9.1 is a sample of good responses in Question 1.

Furthermore, the 3,318 candidates (31.5%) who performed
moderately were able to meet the demands of the question although
they provided partial explanation and unsupported points. They
provided less than the five forms of foreign aid required. Most of the
candidates described two forms of foreign aid and supported them
with the required explanations and examples although only to some
extent. Other candidates provided the five required forms of foreign
aid but explained some of the points partially. In contrast, others gave
satisfactory explanations with examples but provided less than the
five forms required. Further observations found that some of the
candidates’ responses contained a few correct forms of foreign aid
and a repetition of the same forms. For example, when a candidate
gives examples of capital/producer/durable consumer goods and
machines in different forms they may be grouped in the same form.
Therefore, these candidates might have inadequate knowledge of the
forms of foreign aid.

Additionally, the 4,265 candidates (40.6%) with poor performance on
this question failed to describe forms of foreign aid. Most of the
candidates in this category were unable to meet the demands of the
question. Some candidates only mentioned one or two forms of
foreign aid without giving required explanation which tends
distinguish one form from another. Others categorised all the foreign
aid into two categories which are social and military aid, which lead
to their low scores. Other candidates wrongly grouped the foreign aid
as financial and nonfinancial aid, contrary to demands of the question.
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Thus, these candidates demonstrated partial knowledge of the forms
of foreign aid. Repetition of the points was another weakness
observed in the candidates’ responses. A sample of the poor responses

is shown in Extract 9.2.
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Extract 9.2 is a sample of poor responses in Question 1.

In this extract, the candidate wrongly described the forms of foreign
aid.
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2.2.2 Question 2: Economic Integration and Cooperation
The question required the candidates to evaluate the benefits enjoyed
by the member states in the economic integration.

The question was attempted by 10515 (100%) candidates. Among
them, 254 (2.4%) scored from 0 to 3 marks, 1,684 (16%) scored from
3.5 to 5.5 marks, and 8,577 (81.6%) scored from 6 to 10 out of the 10
allotted marks. Generally, the performance of the candidates in this
question was good, as 97.6 percent scored 6 marks and above. Figure
10 shows the distribution of the candidates’ scores.

Scores
m0.0-3.0

03.5-55
m6.0-10.0

2.4%

Figure 10: Candidates’ Performance in Question 2

The 8,577 candidates (81.6%) who had good performance on this
question understood its requirements. They managed to evaluate the
benefits enjoyed by the member states in the economic integration.
Most of them explained that when the member states specialize in the
production of those commodities in which they are more efficient.
Thus, import from the member states, the goods they can produce
inefficiently and enjoy the benefits of specialisation through trade
creation. The member states may enjoy both internal and external
economies of scale, whereby the increase in the size of the market
may require the members to embark on large scale production to meet
both domestic and foreign market. In case of increased social welfare
and security, the candidates explained that member states may enjoy
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common military assistance by creating one military force which can
increase peace and harmonize the interests of member states. Other
benefits which were discussed by the candidates include collective
bargaining power in the international trade as well as improving their
diplomatic relations among themselves. However, some of the
candidates in this category failed to provide the necessary details with
examples as required by the question while others provided less than
the five points required. Consequently, these candidates failed to
achieve full marks in this question. Extract 10.1 is a sample of good
responses.
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Extract 10.1 is a sample of good responses in Question 2

However, the 1,684 candidates (16%) who had average performance
on this question outlined the benefits of economic integration and
cooperation, but they provided inappropriate explanations. Most of
them outlined less than the five benefits required, while those who
exhausted all five benefits provided unsatisfactory explanations.
Some of the candidates concentrated on the economic benefits and
ignored the military and social benefits. Thus, some of the candidates
did not understand the meaning of economic integration and
cooperation. Accordingly, they partially explained some points. This
indicates that the candidates had insufficient knowledge about this
particular topic. Their partial knowledge is evident in their respective
scores.

On the different note 254 candidates (2.4%) who performed poorly in

this question misunderstood the requirements of the question and

provided incorrect responses about the forms of economic integration

instead of the benefits of economic integration in the community. For

example, some of the candidates explained the establishment of the
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preferential trade area by removing trade barriers in the region. Some
of the candidates deviated from the question, that instead of the
benefits, they explained about uneven distribution of the benefits
whereby some few rich member countries accumulate more wealth
and become richer while the other poor member countries become
poorer and fail to meet even the basic needs of their people.
Apparently, they had insufficient knowledge about the concepts of
economic integration and cooperation. Further analysis of the
responses of the candidates showed that some of them understood the
requirements of the question, but they failed to give the number of
points required. Additionally, others deviated from the question and
explained the disadvantages instead of the benefits of economic
integration. A sample of poor responses is shown in Extract 10.2
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Extract 10.2 is a sample of poor responses in Question 2.
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2.2.3

In this extract the candidate provided areas of cooperation instead of
the benefits of economic integration.

Question 3: National Income

The question had parts (a) and (b). In part (a), the candidates were
required to calculate changes in consumption and savings.

In part (b), the candidates were required to elaborate determinants of
consumption.

The question was attempted by 9,956 (100%) of the candidates.
Among them, 2,491 (25%) scored from 0 to 6.5 marks, 2,405 (24.2%)
scored from 7 to 11.5 marks and 5,060 (50.8%) scored from 12 to 20
out of the 20 allotted marks. Generally, the performance of candidates
in this question was good, as 75.0 percent scored 7 marks and above.
Figure 11 shows the distribution of the candidates’ scores.

100

= o @
S =S & S

Percentage of Candidates

=

0.0-6.5
7.0-11.5

12.0-20.0

Scores

Figure 11: Candidates’ Performance in Question 3

A total of 5,060 candidates (50.8%) performed well in this question.
They understood the requirements of the question due to their
sufficient knowledge about national income in the subtopic of
consumption and savings. This indicates good mastery of the subject
matter in the particular topic. Most of the candidates who had a
sufficient mathematical knowledge and skills correctly calculated the
changes in consumption and savings in part (a) and filled in the blank
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spaces provided. In part (b), most of the candidates who attempted this
question managed to explain the determinants of consumption, such
as: The changes in the interest rates whereby low interest rates attract
people to borrow for consumption while higher interest rates make
people reduce consumption, Changes in income distribution influences
the consumption pattern since a lower income gap enables the
majority to increase consumption while a higher income gap enables
only the minority to afford increase in consumption, Government
expenditure when it increases also consumption increases and
decrease when government expenditure decreases and Changes in the
wage level as the increase in the wage level leads into an increase in
consumption while the decrease in the wage level leads into the
decrease in consumption. The variation of marks among the candidates
was caused by the individual ability, accuracy, and mathematical skills
to calculate, interpret, and provide the necessary details in responding
to the question. A sample of the good responses is shown in Extract
11.1.
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On the other hand, the 2,405 candidates (24.2%) who had an average
performance demonstrated inadequate arithmetic skills. Hence, they
applied the wrong formulae to calculate either the changes in
consumption or savings and got wrong answers in part (a). Most of
the candidates in this category managed to provide correct responses in
part (b). They gave a sufficient number of points with examples. In
this part, some of the candidates explained less than the five points
required on the determinants of consumption in the economy while
those who exhausted all the five points provided unsatisfactory
explanations to some of the points. The weakness observed led to low

Extract 11.1 is a sample of good responses in Question 3.

scores of the candidates in this question.

49




Furthermore, 2,491 candidates (25%) with the lowest marks failed to
use the data provided to calculate the changes in consumption and
savings in order to give the economic interpretation and the
information required in part (a) due to their poor mathematical
knowledge and skills. In part (b), some of the candidates managed to
explain at least one or two factors which determine consumption. In
contrast, others provided all the five required points, but they provided
unsatisfactory or partial explanations. For example, some of the
candidates gave incorrect answers by explaining that Consumption is
determined by the autonomous consumption which refers to the type of
consumption which must be consumed by anybody to survive. This
shows that the candidates lacked sufficient knowledge about the
concepts of consumption and savings. Other candidates for instance,
incorrectly stated that the level of consumption is directly proportional
to the level of savings. Therefore, when consumption decreases in the
economy savings also will decrease. Conclusively, the responses given
by each candidate determined their respective scores. Extract 11.2 is a
sample of poor responses.
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Extract 11.2 is a sample of poor response in Question 3.
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2.2.4

In this extract the candidate failed not only to calculate the changes in
consumption and savings but also to explain the determinants of
consumption in the economy.

Question 4: Financial Institutions

The question had parts (a) and (b). In part (a), the candidates were
required to explain the process of credit creation by the commercial
banks.

In part (b), the candidates were required to explain the factors which
limit the process of credit creation in the commercial banks of
Tanzania.

The question was attempted by 7,677 (100%) of the candidates; among
them, 3,351 (43.6%) scored from 0 to 6.5 marks, 3,491 (45.5%) scored
from 7 to 11.5 marks, and 835 (10.9%) scored from 12 to 20 out of the
20 allotted marks. Generally, the performance of candidates in this
question was average, since 56.4 percent scored 7 marks and above.
Figure 12 shows the distribution of the candidates’ scores.

12.0 - 20.0 h 10.9

7.0-11.5 45.5

Scores

0 20 40 60 80 100
Percentage of Candidates

Figure 12: Candidates' Performance in Question 4

835 candidates (10.9%) who performed well in this question
managed to calculate, identify, interpret, and explain the process of
credit creation. The candidates understood the requirements of the
question and demonstrated their knowledge in calculation and

interpretation of the process of credit creation. For example, some
51



of the candidates managed to calculate and illustrate all the
procedures, practically how the initial deposit of 1,000/=TZS, is
created to get the total amount of 5,000/= TZS, through credit
creation in part (a). These transactions include the mathematical
skills and ability to calculate, interpret, and identify the procedures
of credit creation in the regular system of credit creation and their
relevant practical examples in the daily transactions of the
commercial banks in the economy.

In part (b), most of the candidates tried to explain those factors
which limit the process of credit creation in the developing
countries such as: In the developing countries, people save money in
their homes and pockets rather than depositing them in the banks as
well as the activities of different network systems such as Tigo-pesa,
M-pesa, Airtel Money etc. These will pose a challenge to make the
commercial banks to work hard because savings habits may
increase the process of credit creation or decrease when they are
poor. High interest rates discourage borrowing and how interest
rates paid to depositors discourage saving, therefore, the
commercial banks will be required to compete in reducing the
interest rates and improve savings in the economy since the lower
the interest rates the greater the process of credit creation and vice
versa. Furthermore, in the developing countries there few
creditworthy customers to borrow money; the commercial banks
are required to increase efficiency so as to attract more
creditworthy customers since more creditworthy customers increase
credit creation and vice versa.

Nevertheless, the candidates’ scores in this question varied due to
several factors, including their accuracy in the calculations,
interpretations of the findings, and extraction of the required
economic information. Extract 12.1 shows a sample of good
responses.
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Extract 12.1 is a sample of good responses in Question 4.
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However, 3,491 candidates (45.5%) with average marks demonstrated
adequate arithmetic skills and application of relevant formulae. The
candidates identified the requirements of the question. However, they
failed to provide correct responses to the whole question. They
managed to calculate in the stages of credit creation but some of them
failed in giving the last answer and interpretation. In part (b), most of
the candidates identified one or two factors which limit the process of
credit creation. However, most of the candidates failed to give
interpretation and one practical example of the process of credit
creation. This is due to the fact that the candidates failed to integrate
their theoretical knowledge in the classroom and the practical
application of the knowledge in the commercial banks within the
Tanzanian economy.

Furthermore, 3,351 candidates (43.6%) who performed poorly in this
question failed to calculate in the different procedures of the process of
credit creation, to interpret the findings, and extract the economic
information required. Some of the candidates instead of identifying the
calculation in the process of credit creation and the final procedure of
calculating the total amount of money created, they mixed up and got
wrong answers. In contrast, others provided the correct factors which
influence the process of credit creation but with partial explanations
and unsupported examples, while others deviated from the question
and explained even those factors which influence economic growth
instead of credit creation. This suggests that they had insufficient
knowledge about the concepts of credit creation and the factors which
influence the process in the Tanzanian economy. A sample of poor
responses is shown in Extract 12.2
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Extract 12.2 is a sample of poor responses in Question 4.

The extract shows the candidate failed to explain the factors which
influence the process of credit creation, instead, he/she explained the
factors which influence the economic growth of a nation.

Question 5: International Trade

The question had parts (a), (b), (c), (d), (e), (f), and (g). In part (a), the
candidates were required to calculate the visible balance for both
years, then interpret their answer. In part (b), the candidates were
required to calculate the invisible balance for both years. In part (c),
the candidates were required to give three examples of invisible trade.
In part (d), the candidates were required to calculate the net capital
inflow for both years and give an example of capital flows. In part (e)
the candidates were required to determine the net transfer and give
examples of transfers. In part (f), the candidates were required to
calculate the current balance and in part (g), the candidates were
asked that “Is it always the case that balance of payments accounts
must balance? Give a reason for your answer.”

The question was attempted by 3,353 (100%) of the candidates, out of
which, 1,552 (46.3%) scored from 0 to 6.5 marks, 1,278 (37.5%)
scored from 7 to 11.5 marks, and 523 (16.2%) scored from 12 to 20
out of the 20 allotted marks. Generally, the performance of the
candidates on this question was average, since 53.7 percent scored 7
marks and above. Figure 13 shows the distribution of the candidates’
SCOres.
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Figure 13: Candidates’ Performance in Question 5

A total of 523 candidates (16.2%) performed well in this question. The
candidates were familiar with the mathematical calculation skills and
application of different formula in the theories of international trade.
They were able to use correct formula to interpret the terms of trade
and balance of trade. They managed to calculate the visible and
invisible balance of trade and comment whether the balance of trade is
favourable or unfavourable. For example, in part (a), (b), and (c) some
of the candidates managed to; calculate both visible and invisible
balance of trade, comment and give examples of invisible trade. Others
in part (d) and (e) correctly, calculated net capital inflow and net
transfers as well as giving examples of transfers. Similarly, in part (f)
and (g) the candidates calculated current balance of trade and
commented why balance of payments account must balance. The
reason why candidates had good performance in this question is
thought to be that were exposed to many trade and commercial
transactions in their daily life. This implies that the candidates had
acquired sufficient knowledge about terms of trade and balance of
payments in the economy. However, the marks scored by each
candidate varied due to their differences in accuracy. A sample of the
good responses is shown in Extract 13.1.
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Extract 13.1 is a sample of good responses in Question 5.

Furthermore, the 1,278 candidates (37.5%) who performed moderately
were good in calculation but failed to comment on the findings. Some
of the candidates had insufficient knowledge on the balance of trade
and transactions in the balance of payments. For instance, some of the
candidates were able to calculate visible and invisible trade, but failed
to calculate net capital inflow while others calculated well net capital
inflow but failed to comment on the current balance and balance of
payments account. In addition, those who were good in calculations
unsatisfactorily explained some of the points without vivid examples.
As for the balance of trade and balance of payments, some of the
candidates failed to distinguish them since balance of trade excludes
invisible trade while balance of payments include invisible trade. This
indicates that they had insufficient knowledge of the topic.

However, the 1,552 candidates (46.3%) with poor performance
misconceived the question and failed to address the requirements of
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the question. Most of them in this category lacked mathematical and
calculation skills as well as knowledge and techniques in interpretation
and extracting the required economic information from the findings.
For example, some of the candidates failed to use the correct formula
to get the required value while others managed to get the value but
were unable to explain its significance in terms of the balance of trade
whether they are favourable or unfavourable. In addition, others
partially explained on the findings after the calculation in the economy
while others skipped some parts of the question or the whole question
altogether. This indicates that the candidates had insufficient
knowledge of the theories of international trade. Extract 13.2 shows a
sample of poor responses.
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Extract 13.2 is a sample of poor responses in Question 5.

The extract shows the candidate failed to calculate visible and
invisible balance of trade.

Question 6: Marketing and Distribution
In this question, the candidates were required to analyse six factors
to be considered when choosing a mode of transport.

The question was attempted by 8,941 (100%) of the candidates.
Among them, 293 (3.3%) scored from 0 to 6.5 marks, 1,564
(18.6%) scored from 7 to 11.5 marks, and 6,986 (78.1%) scored
from 12 to 20 out of the 20 allotted marks. Generally, the
performance of candidates on this question was good, since 96.7

percent scored 7 marks and above. Figure 14 shows the distribution
of the candidates’ scores.
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Scores

m0.0-6.5
O7.0-11.5

. m12.0-20.0

Figure 14: Candidates' Performance in Question 6

The 6,986 candidates (78.1%) with high scores in this question
understood the requirements of the question. The candidates
analysed the real practical situation of transport in Tanzania and
suggested the factors to consider when choosing a mode of
transport. For example, some of the candidates suggested factors
like; The bulkiness of goods since bulky commodities are always
efficiently transported by using water and railway while other
commodities are transported by using road and air transport, the
available transport links, whereby may wish to use one mode but
unfortunately there may be links in the country or region, you may
wish to make a trip to your village through air transport but there is
no link then that affects the one’s choice. Other candidates
suggested that the social and economic status of an individual is
also very important, for instance the President may use any type of
transport to be able to meet more people within a short period of
time unlike an individual who wants to meet his/her friends. These
candidates failed to score full marks because they provided
explanations which did not contain some of the key concepts in
some points. Besides, some of them did not write the introduction
and conclusion parts in their responses. The weaknesses observed
from the candidates’ responses varied from one candidate to
another, affecting their range scores. Extract 14.1 shows a good
response from one of the candidates.
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Extract 14.1 is a sample of good responses in Question 6.

Moreover, the 1,564 candidates (18.6%) with average scores
supplied partial explanations without exemplifying the modes of
transport under discussion that can be used by an individual or
group of the people to move from one place to another. The
candidates correctly considered different factors, but in some places
failed to choose the mode of transport due to some seasonal factors
such as seasonal roads during the rainy periods and strong winds in
the ocean and these are only temporal. Others took into
consideration both the general social and political trade barriers
such as tariffs, quotas, total ban, embargo and conditions in the
regional economic integration and cooperation which are applicable
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only in some countries. Some of the candidates in this group
repeated the same points which had already been awarded marks,
only with different explanations. However, some weaknesses were
observed in their explanations, such as failure to provide all the
basic information required, failure to put their answers in essay
form starting with the introduction, main body, and conclusion.
These weaknesses led them to score less marks than others.

Furthermore, the 293 candidates (3.3%) with poor performance
failed to understand the demands of the question, as they
misconceived the question and explained the social and political
factors instead of considering the factors to be considered when
choosing a mode of transport. Some of the candidates had
insufficient knowledge and skills in the field of transport. For
example, some candidates wrongly suggested that air transport is
suitable for the rich people while road transport is for the poor
people. However, many candidates in this category described one to
two factors in particular while the factors to be considered work in a
combination. For instance, if an individual wants to go to a village
by car but the place is located in a mountainous geographical area,
he/she may be forced to go on foot due to the lack of roads. The
disparities observed on their scores were due to the accuracy of their
correct points, the number of correct points per question’s demand
and good presentations of introduction and conclusion parts. This
shows that the candidates had inadequate knowledge of the subject
matter. Extract 14.2 is a sample of poor responses.
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In the extract, the candidate failed to explain the factors to be
considered in choosing a mode of transport,

Extract 14.2 is a sample of poor responses in Question 6.

explained about good infrastructures and political factors.

Question 7: Public Finance

In this question, the candidates were required to explain six roles
played by borrowed funds in the economic development of the

developing countries like Tanzania.
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The question was attempted by 6,975 (100%) of the candidates;
among them, 156 (2.2%) scored from 0 to 6.5 marks, 1,499 (21.5%)
scored from 7 to 11.5 marks, and 5,320 (76.3%) scored from 12 to
20 out of the 20 allotted marks. Generally, the performance of
candidates on this question was good, since 97.8 percent scored 7
marks and above. Figure 15 shows the distribution of the
candidates’ scores.

Scores
m00-6.5
7.0-11.5
m12.0-20.0

Figure 15: Candidates’ Performance in Question 7

As pointed out above, 5,320 candidates (76.3%) got high marks,
they understood the demands of the question and had a good
mastery of the subject matter. Most of the candidates in this
category arranged their answer in essay form starting with the
introduction, main body, and conclusion. They managed to explain
the role played by the borrowed funds in the economies of the most
less developed countries like Tanzania. The candidates explained
clearly that borrowing refers to the process whereby the government
is raising money from both within and outside the country in order
to finance and invest in the economy. For example, some of the
candidates explained that: external borrowing is an important
source of foreign currencies to the government which may be used
to import raw materials, capital goods and advanced technology or
rather highly qualified personnel and enable a country to produce
those goods which were unable to produce, while internal
borrowing may encourage the government to borrow from the
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private sector which may enable it to earn some interest after the
maturity of the debt as well as selling the securities such as treasury
bills which in turn may be used to control money supply and
inflation in the economy Other candidates explained that borrowing
enable the government to finance its budget without imposing more
taxes since taxation is the main source of government revenue. This
is particularly true to the developing countries which depend more
on the donor countries Nevertheless, clarity and a good flow of
ideas on the explanations to the points, the number of correct points
examined, proper presentation of introduction and the conclusion
part determined the differences in their scores. Extract 15.1 shows a
sample of the good responses.
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Extract 15.1 is a sample of good responses in Question 7.
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Moreover, the 1,499 candidates (21.5%) with average scores in this
question managed to explain unsatisfactorily some roles played by
borrowed funds in the developing countries without vivid examples.
Others outlined less than the six points required. They failed to
analyse and defend their points with relevant examples. They might
have failed to integrate their theoretical knowledge of borrowed
funds under the respective governments with their activities in the
economies of the developing countries. However, some of these
candidates explained unproductive use of the borrowed funds, lack
of accountability and responsibility as well as corruption in part of
our political leaders in a negative way and considered such points as
challenges, which is contrary to the demands of the question.
Similarly, poor arrangement of the introduction and conclusion as
well as partial explanations of the arguments in the main body made
the candidates scores to vary.

Furthermore, the 156 candidates (2.2%) with poor performance
failed to address the demand of the question. Some of the
candidates misconceived the question by providing the problems
resulting from public borrowing instead of the roles played by
borrowed funds in the economies of the developing countries.
Others provided inadequate explanation of the roles played by the
borrowed funds and they did not support their explanation with
vivid examples in the respective countries including Tanzania. In
addition, others misunderstood the question as they provided points
about public debt or others, contrary to the demands of the question
as exemplified by the candidate who wrote; Also to ensure value of
natural resource of the country is greater than borrowing value,
this means to limit borrowing through avoid of government
expenditures. Among of the role of borrowed funds is to limit
unwanted borrowing.

Not only but also it brings priorities to economic sectors like water
supply and electrical supply and other sectors which stimulate
economic positively. Example in Tanzania their is REA which deals
with supply of electric in rural areas. Also to prepare plans and
policies to conduct economic sectors means that roles to be played
with borrowed funds to ensure good plans and policies to conduct
economic sectors. This shows that the candidate had not only poor
knowledge about the roles played by the borrowed funds to the
Tanzanian economy, but also poor command of the English
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language in expressing himself/herself. Some candidates mixed up
the correct and incorrect responses. They failed to distinguish the
roles played by the borrowed funds in the economies of the
developing countries and the problems as well as challenges
resulting from borrowing funds. Also, some candidates’ responses
indicated several weaknesses. However, some candidates managed
to write the introductory and the conclusion parts. Extract 15.2
illustrates a poor response of a candidate.
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Extract 15.2 is a sample of poor responses in Question 15.

In this extract, the candidate failed to explain the roles played by the
borrowed funds to the economy of the developing countries as
he/she provided the problems resulting from public borrowing.

Question 8: The Structure of the Tanzanian Economy
In this question, the candidates were required to explain the factors
which hinder the development of the agricultural sector in Tanzania.

The question was attempted by 5,099 (100%) of the candidates.
Among them, 1,696 (33.3%) scored from 0 to 6.5 marks,1.521
(29.8%) scored from 7 to 11.5 marks, and 1,882 (36.9%) percent
scored from 12 to 20 out of the 20 allotted marks. Generally, the
performance of candidates in this question was good, since 66.7
percent scored 7 marks and above. Figure 16 shows the distribution
of the candidates’ scores.
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Figure 16: Candidates’ Performance in Question 8

1,882 candidates (36.9%) who scored high marks managed to
explain the factors which hinder the development of the agricultural
sector in Tanzania. The candidates understood the demands of the
question and analyzed properly the factors which influence
production in the agricultural sector. The candidates explained that
agricultural production is the primary sector which deals with
farming, livestock keeping, and other activities which tend to
produce primary products such as mining and fishing. Some of the
candidates explained that, the poor social and economic
infrastructure such as poor storage, transport and irrigation
systems hinder a smooth storage and transfer of the agricultural
products from the production centres which are mainly located in
the rural areas to the urban marketing centres where they are
highly demanded. Similarly, the transportation of the agricultural
modern implements such as seeds, inorganic fertilizers and
insecticides from the urban centres to the rural areas is also
hindered especial during the rainy season. Also poor irrigation
systems hinder production during the dry period while lack of the
storage facilities lead into many crops to be destroyed after harvest.
In contrast, rural urban migration tends to reduce labour force which
is highly demanded for generating employment in the agricultural
sector. Therefore, the seasonal nature of the agricultural
employment contributes to many individuals seeking for jobs in
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alternative sectors that provide relatively stable income, hence
attracts rural urban-migration. For example, in some of the regions
in Tanzania, youths provide their labour force only during the rainy
season and this is one of the factors which act as a stumbling block
in the agricultural production. In addition, agricultural products
from the developing countries are faced by protectionist barriers in
the developed countries. Such protectionist measures limit the
growth of the agricultural exports in developing countries and the
potential that such benefits would provide. Consequently, the
candidates indicated a good mastery and competence in agricultural
production. Nevertheless, a few candidates in this group did not
support their points with vivid examples in some of their points and
this led into variation of scores among the candidates in the group.
Extract 16.1 shows a sample of good responses.
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Extract 16.1 is a sample of good responses in Question 8.

However, 1,521 candidates (29.8%) who had average scores in this
question explained less than the six required factors which hinder a
smooth development of the agricultural production of the
economies of less developed countries. Others failed to clearly
explain and support their points with examples. Apparently, the
candidates lacked sufficient knowledge of the topic. The
observations made on the responses of the candidates in this group
revealed that they were knowledgeable about the subject matter, but
failed to present answers in the required format of an essay and the
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provision of the points with partial explanation and lack of relevant
vivid examples and arguments to support the points required by the
demand of the question.

Moreover, the 1,696 candidates (33.3%) who scored poorly failed to
give the factors which hinder the development of the agricultural
production of the economies of less developed countries like
Tanzania. Some of the candidates misunderstood the question and
provided incorrect points as they explained the effects of low
production of food crops in the economy. Most of the candidates
who performed poorly demonstrated a poor understanding of the
subject matter. They had poor command of the English language
and interpreted the question wrongly. For instance, one of the
candidates wrote that, one of the factors is low labour availability,
due to the existence of few labour available for working discourage
improvement of private sector because labour is scarce and many
private sector for example industry need labour for working many
activities also this discourage foreign investment come to invest in
many sector because of low labour availability hence this is a
challenge to agriculture sector. Another candidate wrote ~"Lower
level of production in the agriculture limits mobility of the
agricultural sector. Agents of production used in the agricultural
sector fail to move geographically and occupationally from one
point to another. This include labour and land and so on. And this
cause a problem raw materials have failed to move from their areas
of production to zone of consumption thus undermining the sector.
This indicates that the candidates had insufficient knowledge about
agricultural production which is the backbone of our economy and a
greater percentage of the Tanzanians are employed in this sector.
However, some candidates managed to explain at least two factors
which hinder smooth development of the agricultural production as
well as the introductory and conclusion parts of the responses.
These weaknesses made the candidates to score different marks.
Extract 16.2 shows a sample of poor responses.
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Extract 16.2 is a sample of poor responses in Question 8.

In this extract, the candidate failed to give the factors which hinder
smooth running of the agricultural sector in the economy as he/she
provided the problems resulting from the fall in production in the
agricultural sector.
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3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE PER TOPIC

The ACSEE 2021 Economics subject had 16 topics. The topic-wise analysis
shows that 11 topics had good performance while the remaining 5 topics had
average performance.

The topics with good performance include: Employment and Unemployment
(99.0%), Public Finance (97.8%), Economic Integration and Cooperation
(97.6%), Marketing and Distribution (96.7%), Theory of Money (87.6%),
National Income (75.0%), Production (73.5%), Subject Matter of Economics
(72.1%), Economic Growth and Development (72.1%), The Structure of the
Tanzanian Economy (66.7%) and Population (62.4%). The good
performance in these topics could be attributed by the candidates' adherence
to the required instructions, identification of the demands of the questions,
and adequate knowledge about the topics examined.

The five averagely performed topics were: Financial Institutions (56.4%),
International Trade (53.7%), Theories of Demand and Supply (51.6%),
Market (51.0%) and Privatisation (44.9%). The average performance was
due to poor background in Mathematics to some students, misconception of
some concepts, inadequate knowledge about the concepts related to the
questions and insufficient explanations or unsupported points and poor
command of the English language.

A comparison of candidates’ performance per topic for ACSEE 2020 and
2021 shows that, in the 2021 examination, there has been a noticeable
improvement in candidates’ performance on the Production topic compared
to the 2020 examination in which it was poorly performed.

4.0 CONCLUSION AND RECOMMENDATIONS

4.1 Conclusion

The general performance of the candidates in the Economics subject for
the 2021 Advanced Certificate of Secondary Education (ACSEE) was
good. The candidates performed well in this examination because they
managed to identify the demands of the questions, adhered to the required
instructions and had a sufficient knowledge of the subject matter. In
contrast, a few candidates performed poorly because of the wrong
interpretations of the requirements of the questions, inadequate
knowledge on computations and lack of skills in providing the required
economic information after computations.
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4.2 Recommendations

To improve the performance of prospective candidates in the topics with
average performance, the following are recommended:

(@) Teachers and students should be encouraged to use participatory
methods of teaching and learning in mathematical derivations, graphs
charts and drawings especially in the topics of Theories of Demand
and Supply and Market to get experience in applying various
formulae, concepts and principles in answering questions. They
should also be advised to revise all the topics to make sure that they
understand the concepts properly.

(b) Subject teachers should strive to equip themselves with learner
centred teaching and learning methods such as Jig saw technique or
think pair and share in teaching topics like Financial Institutions and
International Trade. They should also equip themselves with
knowledge about current economic issues and apply them in teaching
and learning Economics. This will build interest or motivate students
in the learning process.

(c) Subject teachers should conduct debates, plenary discussions and
presentations to ensure that questioning and discussion elicit students’
thinking should be built on them, leading to great clarity and precision
to the topic of Privatization.

(d) School administrators should work with subject teachers to facilitate
internet services and study tours for Economics students to the
Commercial Banks, Trade Fair Competitions and Markets. They
should invite guest speakers or experts as part of teaching and
learning activities to allow practical skills and broaden students’
understanding.
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Appendix

Analysis of Candidates' Performance in Each Topic

Percentage of
candidates who

S/n Topics No._of scored the Remarks
questions
average of 35 or
above

12 | Financial Institutions 1 56.4 Average

13 | International Trade 1 53.7 Average

14 | Theories of Demand and 1 51.6 Average
Supply

15 | Market 1 51.0 Average

16 | Privatization 1 44.9 Average
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